EMEJFAU-18Yyh—1)—- 2020 4N1E3E)—J BER

2020/11/29
| AB |BB| =5 B [Jnvy Pt =¥ #| AB |BB| =5CRE) B | 7nvy SFE il
o5 | x| EEEEm [1900] A | AR v BRI | RP il g | EEEE |00 A | AR v mrxess m2
(BH) 1500| B B vs EEYER| bx (&%) 1200 B HE vs NAB | 4F
o5 | + | —=Tmm |1000] B Bffond vs —EHIE |2HE o2 | + | —EIgEm [1400] B hEfE— vs —EIE| dR
(—EIRN)  [1200] A [EEEAES vs Z@E | 55 (—BIX)  [1600] A |BHFCInd vs hm3rd | &
Noss | £ [5—o70—1m1 16:00| A | BHIFC'B vs BEXZA| XK 2 |o/ial + BISEEILG 1000 A |FIEHEB vs = £
(BHFC)  [1g00] B | his— vs A | = (FEHE  [1200] B | #ond vs B #
=)k 1000 B 20 vs B %E =TS 10.00| B 2 vs BN | @R
e | E é“';& 1200] A FwE vs BIASEE| BAN izl + (g“l? 1200] A BwE v SHE | o
o5 | + 7”“”%‘?(%% 9:00 [ A BHE  vs z A o/1a| ¢ | ¥RIAK—vELR 10:00( A QEX;iﬂ vs  HE RE
(2s) 100 B | Bazhs vs wnB | % (HE) 1200 B KR vs EEYEB| =&
#]| BB [ER| =I15(KE) B | 7Ry SFEL =¥ | A8 |EA| =5 il = XL =¥
o/19| + ZEER 13:00( A EX-S vs EBEIFC2nd| T 026 | + ZEEHk 13.00f A E- vs EMHE@m | BN
B R) 1500 B |—EI% vs BH |BHFC (BH) 1500 B HH v HE |2EE
ool + 7"J->'>g*f<f% 13:00| B jcﬁJz vs :H}B %Eﬂﬁ 026 | + _(%éfigﬁ 10500 B —EI% vs ﬁ%fﬁﬁ# #
MA) 1500 A |BIX&®B vs ZHE | AR 12200 A [BIX&GEB vs # ik
i losio] 3 [BEA=ARE [100] A [2EA=A v mammEs] wm | |, [ T [somaroon [100] A [2arcmd w %% [2a
(BEXZA) [1200] B |Hm2Es v w@pzE—| mm (%) 12000 B | m#hgE— vs B | %
EMET 1000 B HE vs 21 mE =L 1000 B KR vs 2J1 b 4]
19| & ‘é“'f 1200 A R EL i & 1200 A | ®®3rd vs FEEEFEB| KA
ol < ;‘-.7glm¢“:—-yt,u‘ 1000 A HE vs HI3rd | ALY o27| @ BEX E[‘,%‘*; 1000 A [riz) =) vs BEX=M| M
W) 1200 B | B#Bond vs A0SR | chm (BEXZM) [1200] B [mm2Es vs o8 | AR
#]| BB [ER| =I15(KE) B | 7Ry SFEL =¥ | A8 |EA| =5 il = XL =¥
wal B LESH 10:00| A HE v AW B e HESHK 930 | B HE  vs EBH o
(&%) 1200 B | BuEs v Ba | 3% (HE) 30| A | 2% v # |®m
sl + 10:00| B FE vs —BIX| AR 1/21] £ | —BEI%EK 1000 B | —=I% vs KK |%3F
12001 A F3rd  vs AR I 11/21 %G 13.00( A HE vs [EIENTEB| EAfE
s lioal = 1000] A [BTre®s v BEAzA] 0| | () 1440| B | hEIE— vs @B | 3E
1200| B | mEE— vs NAB = BB 10:00| B 2 vs WNBB S
e g8 g8 m/2t [CUES) . = = g
wal B =) S 10:00| B |FEFEB vs 2| |2HE 12:00| A £EB  vs Hm3d | 2
@ 12:00( A E vs ZHE | ¥ BERESTh 10:00( A LHE vs BEA=A| R
/sl g | TIRREE [1700] A BAIFC2nd vs RBHMFEB| KL 11/22| B zﬁimi% 1200 A |ZBFIFC2nd vs  HE | =
(ZHIFC) 1900] B = vs  KBL | WFE (2Em) 1400| B | ®¥fond vs FEFEB| BE
#i| BB [ER| =I15(KE) BERE [ TRy SEL =¥ | A8 |EA| =5 B [Fmvy SR =¥
/08| £ | BEXR=m 1000 A ¥ vs BEKX=MA| BH o5 | £ | BHup—m |1000] A BR  vs BER=F| HE
(BEX=M) [1200] B B vs  KH 2 (BH) 1200 B HE  vs hEE— | =F
— . RE| B 20 vs BhEE— | R s |+ %E;@g 1315 B 2/ vs iﬁan HR
x%| A | 2EE v hmad | b (&) 1500 A #  vs hEsd | H3
. EH RE KRE| A |[BEIFC2nd vs BT A&EB| HE oliass| + 7"1-‘/%5‘0\1 13.00| B WMA/B vs —EIE| WA
11/28| = HEEK 1000| B HE  vs BT | F3F (%) 1500 A |FEIEEHEB vs  FHE I%
129 @ —mTE 1000 B |HBEBZEB vs —=EIT%| @GR 125 + 5\'—79’7’1#‘::“}[:»7\' 1000 A HE vs BIKLZEB| WP
(—ZI% [1200] A BE v BE | m® (F%) 1200 B BH  vs FEYEB| 48
120l & msEdG | 13:00) A [FEBHEFEB vs AR pUES 6| g | TIRKEE 1500 A |ZEHIFC-B vs SHE | Ak
(k) 1440| B | B#f2nd vs MAB | &R (BHIFC)  [1645| B KA vs B |2@EE
| BB |EA| =&K& B | 7avy St BH | me ClieEs)
oo £ | BEmE [1230] A | &% v ®mE [+ |6]AA[wa] =Sk | B [oov s =
(&%) 1430| B | h#iE— vs HE#ond | BmR 3|os2a| & | BammsmKEa | 1700 B | m#fond vs BHIZE | H3E
ol £ | EBEXER 1000 A |BEXZHA vs HFE3d | KB | mmoceme)
EEXZA [1200] B | xm v #m2 | wxm| @] A6 |wa] s5cGE) | s |oo i )
o liz/1a| + | msmms [11:00| B REIHTEB vs BT AAEE| T¥ 3 RE A FE  vs PRI | F3F
(RIS 1300 A 2l vs —EI¥X| E2E| mmscest)
] & | Fommmm [e00] A # v mgrc | 38| @] A6 |[we] smokEm) | el 0oy S, e
(BAIFC) | 1045| B |®m¥EBs vs BHms| = 7 o B 2)l vs hEBE— | X
- 7'1*‘/*%?()\1 900 | B WE  vs  BH |2HEFR A LER  vs HRE3rd | FE
(M) 11:00] A EHE vs HE B4 7 RE A |BHIFC2nd vs BIALMWB| H3&




